2006-2007 6TH GRADE CONTEST SOLUTIONS

Answers

30.

The area of each square is 16. Since 2000 + 16 = 125, we can
fit at most 125 non-overlapping squares inside.

A)121 B)125 C)250 D)500

31.

A 3-hour concert lasts 180 minutes; §
18 minutes is 10% of 180 minutes.

A)6% B)10% C)21% D)30%

32.

The perimeter of an equilateral A
with integer sides is divisible by 3.
A)915 B)615 C()315 D)115

31

32.

30.

B

33.

The 8 factors of 2006 are 1, 2, 17, 34, 59, 118, 1003, and 2006.
A) 4 B) 6 C) 8 D)9

33.

34.

10 like both, so 20—10 = 10 like only math, and 30—10 = 20 like
only art. That's 10+10+20 = 40 students, so 60—40 = 20 like neither.

A) 0 B) 10 Q) 20 D) 30

34.

35.

A+1)+(143)+(1+5)+...+(1+99) = 50+(1+3+5+...+99) = 2550.
A) 2550 B) 2599 C) 2600 D) 5000

35.

36.

Bob got 2,5, 8,11, 14, 17, . . ., and
Ann got 3,5,7,9,11, 13, .. .. Bob’s 3rd, 4th, 5th, . . . , 100th
numbers are, respectively, 1, 2, 3, .. ., 98 more than Ann’s.

A) 97 B) 98 C) 99 D) 100

36.

37.

The number of leaves must be
a multiple of 20.

A) 399 leaves B) 400 leaves
C) 401 leaves D) 410 leaves

38.

Make 1 cut through 1 thickness to
get 2 pieces, 2 cuts = 3 pieces, 3
cuts = 4 pieces, 4 cuts = 5 pieces,
..., 49 cuts = 50 pieces. At most,

I made 49 + (4x50) = 249 cuts.

A)249 B)250 C)299 D) 300

37.

38.

39.

Each cube needs a top and a bottom. Choice A has 2 bottoms.

A OFR B) CH c>1:EE|:| D) [T

39.

40.

If 4 flips = 3 flops, and 3 flops = 6 flaps, then 4 flips = 6 flaps.
A) 2 B) 3 C) 4 D) 6

40.

C

The end of the contest £y 6

Visit our Web site at hitp://www.mathleague.com
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Information & Solutions

Tuesday, February 20 or 27, 2007
Contest Information

m Solutions Turn the page for detailed contest solutions (written in the
question boxes) and letter answers (written in the Answers column to
the right of each question).

m Scores Please remember that this is a contest, not a test—and there is no
“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, deserve commendation!

= Answers & Rating Scale Turn to page 148 for the letter answers to
each question and the rating scale for this contest.
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